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The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

SECTION-A

Which colour of white light suffers (i) least deviation and (ii) maximum deviation
when a beam of white light passes through a glass prism ?

Write the name and structure of an aldehyde with 4 carbon atoms

In a food chain comprising frogs, insects, birds and grass, which one of the organisms
is likely to have maximum concentration of harmful non biodegradable chemicals in
its body ?

State one advantage of using disposable paper cups over disposable plastic cups ?

Why does it take some time to see objects in a cinema hall when we just enter the hall
from bright sunlight ? Explain in brief.

(a) What should be the position of the object, when a concave mirror is to be used :
(i)  as a shaving mirror, and (ii) in torches producing parallel beam of light ?

(b) A man standing infront of a mirror, finds his image having a very small head and
legs of normal size. What type of mirrors are used in designing such a mirror ?

Why does the colour of the sky appear blue ? Explain in brief.

(a) Give reason: Regeneration is not the same as Reproduction.

(b) State the mode of a sexual reproduction in Plasmodium.

(a) State the Modern Periodic Law.

(b) Name the element which has twice as many electrons in its second shell as in its
first shell. Write its electronic configuration also.

(a) Why do all the elements of the same group have similar chemical properties ?

(b)  Why do all the elements of the same period have different properties ?

(a) How can development of efficient engines ensuring complete combustion of fossil
fuel be useful to us ?

(b) Name the four elements that constitute fossil fuels.

State in brief the role of the prostate gland and seminal vesicles in the male reproductive
system ?

(a) State two disadvantages of converting forests into monocultures.

(b) Give any two advantages of water stored under ground.
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14.

15.

16.

17.

18.

19.

20.

21.

Study the diagram below and answer the following questions :

(i)
(i)
(i)

(b)

£

N W
"/

Name the defect of vision depicted in the diagram.
List two causes of the above defect.

Draw a ray diagram for the correction of the above defect using an appropriate
lens.

Define absolute refractive index of a medium

Light travels through glycerine with a speed of 2.05 x 108 m/s. Find the refractive
index of glycerine. Given , speed of light in vacuum = 3 x 108 m/s.

State Snell’s law of refraction.

A pencil when dipped in a glass tumbler containing water appears to be bent at
the interface of air and water. Explain why.

An organic compound A is widely used as a preservative in pickles and has a
molecular formula C,H,O, . This compound reacts with ethanol in the presence
of a mineral acid to form a sweet smelling compound B.

(i) Identify the compound A.

(i) Which gas is produced when A reacts with sodium carbonate ? Write the
balanced chemical equation for the reaction involved.

Worite the names of
(i) CH,CH,Br
(i) CH;-CH=CH,

How and why does the size of an atom vary on moving from left to right in a
period ?

Why does the chemical reactivity of metals increase on moving down a group ?

In a monohybrid cross between tall pea plants denoted by TT and short pea
plants denoted by tt, Preeti obtained only tall plants denoted by Tt in the F1
generation. However in F2 generation she obtained both tall and short plants.
Using the above information explain the Law of dominance.

What is genetic drift ?

How many eggs are produced every month by either of the ovaries in a human
female ? Where does fertilization take place in the female reproductive system ?

What happens in case the eggs released by the ovary is not fertilized ?

State any two factors that could lead to the rise of a new species.

How do analogous organs provide evidence in favour of evolution ?
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22,

23.

24.

25.

(b)

Why traits such as intelligence and knowledge cannot be passed on to the next
generation ?

How can we say that birds are closely related to reptiles and have evolved from
them ?

Define Principal focus of a spherical mirror.

For what position of the object does a concave mirror form a real, inverted and
diminished image of the object ? Draw the ray diagram.

An object 4 cm high is placed at a distance of 6 cm in front of a concave mirror of
focal length 12.0 cm. Find the position of the image formed.

OR
Define optical centre of a spherical lens.

You are given a convex lens of focal length 30 cm . Where would you place an
object to get a real, inverted and highly enlarged image of the object ? Draw a
ray diagram showing the image formation.

A concave lens has a focal length of 20 cm. At what distance from an object
should an object be placed so that it forms an image at 15 cm away from the
lens ?

What are structural isomers ?

Draw and write the names of any two structural isomers of CsH;,

Discuss the drawback of using soaps over detergents for cleansing process.
OR

List two differences between saturated and unsaturated hydrocarbons.

What is a catalyst? Write the chemical equation to represent the hydrogenation
of ethene.

Which of the following compounds belong to the same homologous series ?
CHg CHO, GHAO, CyHyg

Draw a neat diagram of longitudinal section of an ovule to show fertilization of
pollen on stigma and label the following parts:

(i) Pollen Tube

(i) Stigma

(iii) Ovary

(iv) Female germ cell

Give any two advantages of vegetative propagation .
OR

Draw a neat diagram of Female Reproductive System and label on it the following
parts.

(i) Oviduct
(i) Cervix
(i) Vagina
(iv) Uterus

State any two functions of human ovary.
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26. The path of a ray of light passing through a rectangular glass slab was traced and
angles measured. The correct representation of angle of incidence, iangle of refraction r
and angle of emergence e is shown in the diagram.

SECTION - B

27. The focal length of the concave mirror in the experimental setup shown, equals

L,
LLLRE RN ARATE

2 4

(a) 103 cm

TN iy e r iy vrr e e e vy vpenrefuata
LR LERRNFRAEN]

6 8 10 12 14 16 18

(b) 11 cm () 11.7 cm
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28.

29.

30.

31.

32.

In the experiment to trace the path of a ray of light passing through a rectangular glass

slab four students tabulated the Ui, (jr and [Je as given below. The student who has
performed the experiment most carefully is :

Student| A B C D
i 30° [ 30° | 30° | 30°
Or 17 24 21 19
Oe 28 30 32 30°

@ A (b) B © C d D

In order to determine the focal length of a convex lens by obtaining the image of a
distant object on a screen, the position of the screen should be :

(a) Perpendicular to the plane of convex lens
(b) Parallel to the plane of convex lens
(©)

(

d) Anywhere in any direction

Inclined at an angle of 30° from plane of lens

The image formation, when rays from a distant object fall on a concave mirror is
correctly depicted in the ray diagram :

(A) (B)
-
F
©) fj‘”‘p—“—’
>
F

(D)
\

~

F

@ A (b) B (© ¢C (d) D

On dissolving a salt in water Amita obtained a blue coloured solution . The salt could
be :

(a) CuSO, (b) FeSO, () ZnSO, (d)  AlySO,),

Which of the following gives a vinegar like smell ?
(a) CH,CH,OH (b) CH,;COOH
(c) NaHCO, (d) Na,CO,4
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33.

34.

35.

36.

37.

The form in which solid zinc is used in the laboratory to study its action on salt solutions
is:

(a) filings (b) granules

(c) turnings (d) wires

On adding sodium hydrogen carbonate to acetic acid, one immediately :
(a) observes strong effervescence

(b)  hears a hissing Sound

(©)

(d) observes the evolution of a coloured gas

gets pungent smell

A strip of copper was placed in a beaker containing ZnSO, solution. On observing a
strip the next day, it was noticed that :

(a

) The copper strip became thicker.
(b) The copper strip became thinner.

() The copper strip remained as it was.

(d) The colour of the strip changed.

Given below are stages of binary fission in Amoeba. The stage in which the division of
cytoplasm has just begun is shown in :

3 (N &

@ 1 (b) I (c) I d) 1V

3 g dry raisins when placed in a petridish containing 15 g water swell up after some time.
If the mass of the swollen raisins after wiping them gently with a filter paper is 4 g and
the mass of water left in the petridish is 13 g, the percentage of water absorbed by the
raisins may be determined as :

() %xmo (b) %xmo
© %xmo (d) %xwo



38.

39.

40.

41.

A student draws the following diagram of budding in yeast but could not label the
parts ‘b and ‘d". The correct labelling of parts ‘b” and “d respectively is :

a

b

C

d

nucleus of bud, nucleus of Yeast

=)
~— ~—

dividing nucleus of bud, nucleus of Yeast

c¢) dividing nucleus of Yeast , nucleus of bud

~_~ N /N~
o
~—

nucleus of yeast, nucleus of bud

While studying binary fission in Amoeba an observer finds that at the end of this process :
(a) identify of the parent cell is lost.

(b) a parent cell and a daughter cell are produced.

©

(d) division of the cytoplasm starts.

two daughter nuclei are formed.

Which of the following statements is not true about budding in yeast ?
(a) A bud may arise from any part of the parent cell

(b) Before detaching from the parent body a bud may form another bud.

(c) A bud may separate from the parent body and develops into a new individual
(d) A bud arises from a particular region on a parent body.

Following five steps are generally followed in the experiment on determining the
percentage of water absorbed by raisins. However these steps are not in proper sequence

1) Measure the mass of dry raisins

Measure the mass of soaked raisins

Take a clean beaker and put dry raisins in it.

Pour water into the beakers so that the raisins are dipped

After about 90 minutes remove soaked raisins from the beaker and wipe them
with filter paper.

The correct sequence of these steps is :
) 1,2,3,54
(b) 1,3,4,52
3,1,4,5,2
3,1,5,4,2
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